13274 Eigenvector

N, = 4 s=0 mgs =0

Irred. Representation : I'y 3

A
Ei3p = %
[Wiz2) = [4,0,0,Ty3)
= (3.1 (]0202) —]2020))
+  Cisz2 (|02du) — |02ud) + |0du2) — |0ud2) — [20du) + [20ud) — |2du0) + |2ud0)
—|d02u) + |d20u) + |du02) — |du20) + [102d) — |u20d) — |ud02) + |ud20))
+  Cisz2,3 (|0d2u) — |0u2d) + [2d0u) — |2u0d) — |d0u2) — |d2u0) + |u0d2) + |u2d0))
J2 —2(U + 10W)J — 82 + U2
Ciz2-1 = —
V2
((3OW — Ayy) (6(J —U —5W) + A14)>
_|_
9v2
c I+ D)
132—-2 — 3\/5
t (U = 2W + (cos (62) + V3sin (62) ) VA3 )
_|_
3v2
Cizz—z = —2V2¢

Nigp = \/201232,1 +16CT55 5 +8CT30 5



